Algebra 1 Bellwork  Tuesday, April 12, 2016
2w3x5y2 )3

1. Simplify. (—4w4x‘3y)‘2( 2
xy

2 The half-life of a medication is 25 minutes. You take a 300mg dose at 9:00am. How much remains at
2:45 pm? Round to the nearest hundredth of a mg.

3. A piece of real estate has been increasing 2.8% each year. The value of the real estate was worth
$230,000 in 2011. Find the value of the real estate in 2004.

4. Expand each.

a) 4m?(7m3 —5m* +6) b) —2a3b%(7a*b3 — 8a2b°)

5. Expand each using the FOIL method, the "Box" method, or using Distributive Property. Each answer
should be a trinomial. Write your answer in Standard Form.

a) x+3)x-7) b) (6p-5)(2p+9)

6. Expand. Write your answer in Standard Form.  (3x + 2)(4x? - 9x +5)
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